Warm -Up

f(x) = 3x -7 h(x) = x* + 3x - 40
g(x)=x-95
1. (f-h)(x) 3. (2)(x)
2. (f-h)(x) 4. h(-3)

5. (fog)(x)
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Today we will:

¢ Determine the Inverse of a function
algebraically

¢ Graph the inverse of a function
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Steps:

1. Change f(x) to y
@Swnch xandy
3. Solve fory
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Find the Inverse Function
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Graphing the Inverse

o
switch the xand y values of the | funct

Ex: ()
If a function has points of (3, -7) and ( -5, 9),

then the mvlcergg has points of 7%) (6{ )
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Function: y=x-7
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Inverse:
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Function: (X + 2)° A
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Function: /(x)= 1
% |2 -2 - X h
Y I -2 5 fi

Inverse
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Is the inverse a ;
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Function: 7(x)=-2(x-1) 1
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Inverse: S
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Is the inverse a

function? \(gg

6543 -2 -




Function: 7(x) = 2x + 4

Inverse:

Is the inverse a
function?
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Function: g(x)=-x" -1

Inverse:

Is the inverse a
function?
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Function: ¢(x) = v/x +3

Inverse:
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Function: £(x) = —~/x + 2

Inverse:

Is the inverse a
function?

>
~<

== N W Hn D g O WO

i oo
O W ~ D N B WK -

€







